

Приложение 1
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	214
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	956 – 834 =
	

	562 + 135 =
	

	729 – 515 =
	

	424 + 273 =
	

	324 + 435 =
	

	275 – 152 = 
	

	278 – 144 =
	

	340 + 134 = 
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	474
	214
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	599
	697
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	565
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	956 – 834 =
	

	157 + 540 = 
	

	729 – 515 =
	

	424 + 273 =
	

	235 + 264 =
	

	275 – 152 = 
	

	340 + 134 =
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	987
	223
	474
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	865
	585
	364
	134
	311
	678



	340 + 134 =
	

	457 – 234 = 
	

	723 + 142 = 
	

	278 – 144 =
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	699
	134
	579
	223
	489
	499
	848
	154
	232
	599




	275 + 424 =
	

	238 + 341 =
	

	457 – 234 =
	

	321 + 527 =
	

	278 – 144 =
	

	235 + 264 =
	

	324 + 175 =
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